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1.1 

 
1.2 

 

 
1.3 

 

 
1.4 

 

 
1.5 

 

 

1.6 

 

  1.1.2 
94, 97, 104

D   

  1.3.1 
183

 :  C 

   2.1.1 
24

   

2070/90%
  

          2,300.00  

(75%*2,300)           1,725.00  

1,725/1.15)
  

          1,500.00  

(20%)
  

             300.00  

  
          1,200.00  

  A 
   

 

    2.3.1 

36

  : B 

   2.6.1 

46

  : A 

    4.1.1 

441

  :  B 
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1.8 

 

 

1.9 

 

 

1.10 

 

 

( ) 
 

 

 

 

 

 

 

 

 

 
 
 

    5.2.1 
533,570

  :  C 

     6.1.1 
610

  :  C 

     7.1.2 

667,669,687,692

  :  C 

     7.4.1

673

  :  B 
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2.1 
 

 
2.2 
         

 
2.3 
 

 
 

2.4 

 
 
 

     : 1.2.2 
144,146, 147, 151, 163,168

(a) (c) (d)

(a) 

(c)
(d) FIFO

 

 2.3.1 
43

 = (110+2*120+2*90) =  530 

= (15^2 + 18^2*2 + 9^2*2)           =   1,035 
 =  

  

32.17 
                    

 

 2.5.1 

338,340
(a)  Ѐ ʎȾЍÎ 

 
Ѐ σπȾЍρππ Ѐ 
 

(b)  95%  µ = 720 ± (1.96*3)  

             =  720  ±   5.88  

                  714   726  

  
 

3.2.1 / 3.2.2   

389,412

(8,000,000/500*60)         960,000.00  

(1,000,000/100*20)         200,000.00  

(3,000,000/2 ,000*500)         750,000.00  

DD      1,910,000.00  

DD           40,000  

                  47.75  
 

 1,035 
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2.5 
 

 
2.6 
 

 
 
 
ÑæÙßû ûÚ}ÚõÞØ 
 

à×<`×èõ ÑæÞóÔÈ ûÜ´$ó× x ûÜÆõ Ù$þ× (1,500 x 120)         = 180,000                                 
&õ] ÑæÞóÔÈ ûÜ´$ó× x ûÜÆõ Ù$þ×                 (1,630 x 120)          =   195,000                                 
                                                                                         ÑëÙù×                     15,600 <$&Ú÷À$×æ                

 
 
 
 
 
 
 
 
 
 
 
 

  5.1.1 
523

 

 

: 5.2.1 

561

1,500 

1,630 

130 

400 * 30% 120 

130*120    15,600 <$&Ú÷À$×æ                 
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2.7 
 

 
ÑæÙßû ûÚ}ÚõÞØ 

 
b   = DQd       =  9,000    =   18 
  Dp          500  
 
Q   =  a ɀ bp 
 
60,000   = a ɀ (18 x 5,000) 
 
a   =   150,000 
 
Q   = 150,000 ɀ 18P 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

: 6.1.1 
614

   
  

  
P = a- bx 

  

     

 
5,500/1.10 *10% 500

 
= 5,500 - 500 5,000

 
51,000/.85 * 15% 9,000

 
51,000+9,000 60,000

     

 
b  =    500  = 1/18 

 

   
9,000 

 

 
5000      =         a - (60,000 * 1/18)  

 

 
a =  5,000 + 3,333   = 8,333  

 
P= 8,333 - x/18  
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2.8 
 

 
2.9 
 

 
 
 
 
 
 
 
 
 
 
 
 

: 6.1.1  
611

X = 120 - 2P 
  P = 60 - 0.5X 
  

TR = P* X = 60X - 0.5X2 
 TC = FC + VC = 640 + X(4 + 0.5X) 

TC = 640 + 4X + 0.5X2 
 

    , TR - TC = 0 

60 X - 0.5X2 - 4X - 0.5X2 - 640 = 0 

X2 -56X + 640 = 0 
  X = 16  X = 40 
  20   X= 40 

    X = 40, P = . 40 
 

 

: 6.2.1 
624

   

  

     

          

 

         100 ɀ 0.05X = 60 

   

   

         x   = 40 / 0.05   = 800   

 

   

 = 100 ɀ 0.025x 

 

   

             = 100- (0.025*800)    =  80  

 (800*80) ɀ ((800*60)+7 ,500)

  8,500
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ÑæÙßû ûÚ}ÚõÞØ  01 
 
´Ô_ à$÷À$×´  = x (100 ɀ 0.025x) 
   =     100x ɀ 0.025x2    
´Ô_ Ñ×÷À´   =       60x + 7,500   
Ù$þ×   =     100x ɀ 0.025x2 ɀ (60x + 7,500)  
        =         40x ɀ 0.025x2 ɀ 7,500   
 
à$ùßõÚæ Ù$þ×  = dy   40 - 0.05x 
    dx 
  0 = 40 ɀ 0.05x 
              0.05x = 40 
                      x = 800  
 
ãûÍ´ Ù$þ×  

Ù$þ×   = 40x ɀ 0.025x2 ɀ 7,500 
   = (40 x 800) ɀ (0.25 x 8002) ɀ 7,500 
   = 8,500 
 
ÑæÙßû ûÚ}ÚõÞØ 02 
 
´Ô_ à$÷À$×´  = 100x ɀ 0.025x2   
´Ô_ Ñ×÷À´  = 60x + 7,500    
Ù$þ×   = 40x ɀ 0.025x2 ɀ 7,500  
 
Ù$þ× ãûÍ´ <ù Ñð  

40x - 0.025x2 ɀ 7,500   =   0 
x = 216.9048    or   x = 1,383.0951 
 216.9048 + 1,383.0951  = 800 äßææ  
                                  2 
 
ãûÍ´ Ù$þ×  

 
40x ɀ 0.025x2 ɀ 7,500 
(40 x 800) ɀ (0.025 x 8002) ɀ 7,500 

8,500 
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2.10 
 

 

 

ÑæÙßû ûÚ}ÚõÞØ 

  

¥æÞóÔÈ   15,200 x 24 x 500 
                                         1,000 

182,400 

(-) ´ÔÙß µõ$è×    1,200 x 24 x   500 
                                                      1,000   

(14,400) 

(+) à<&ùß µõ$è×   1,800 x 24 x   500 
                                                           1,000 

   21,600 

 189,600 

&$´$ù] àÙ$þ×    189,600 x 5 
                                 95 

     9,979 

 199,579 

(-) ´ÔÙß à´Ô÷Ü<] (25,000) 

(+) à<&ùß à´Ô÷Ü<]    30,000 

´Ô_ è`óÔÈ 204,579 

 

 

 

 

 

: 7.3.1 
650,651

 
   

 

15,200 

1,800 

(1,200) 

15,800 

15,800 x 24 379,200 

(379,200/1,000) *500 
(189,600/0.95)

189,600 
199,579 

30,000 

(25,000) 

204,579  
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 (a) 
 

100,000  7 400,000  300,000   (0.4 x 0.5 x 0.3)= 0.06  18,000   

100,000  7 500,000  200,000   (0.4 x 0.5 x 0.7)= 0.14   28,000  

100,000   5 400,000  100,000   (0.4 x 0.5 x 0.3) = 0.06  6,000   

100,000   5 500,000  0   (0.4 x 0.5 x 0.7) = 0.14  0   

80,000   7 400,000  160,000   (0.6 x 0.5 x 0.3) = 0.09  14,400  

80,000   7 500,000  60,000   (0.6 x 0.5 x 0.7) = 0.21  12,600  

80,000   5 400,000  0   (0.6 x 0.5 x 0.3)= 0.09    0   

80,000  5 500,000  (100,000)   (0.6 x 0.5 x 0.7)= 0.21    (21,000)   

                                                           1.00                            58,000   

 
                                                 

(b)  (i)  56% ((0.06 + 0.14 + 0.06 + 0.09 + 0.21) x 100%)

21% (0.21 x 100%) 

23% ((0.14 + 0.09) x 100%)
 
 

( 10)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

:  2.4.1  
299,302
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 (a) 
 

 

    

              3,800                 3,800  

              1,200                 1,200  

W1                  250                        -    

             5,250                5,000  

     
     

100 W2          525,000              500,000    

 
1 (W1)  

300,000  

300,000/1,200
               
250  

 

2 (W2) 
 

 = 125+1,275 ɀ 1,300  = 100      
 
 (b)  
 

    

(250  * 1,275) 318,750 

(299,000) 

   19,750  
 
 
 
 
 
 
 
 

:  3.1.1  / 3.1.2  / 3.1.3      
357,385,396
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(c) 

  

= 7,500*1,300       9,750,000         9,750,000  
     
        (643,000)        (606,000) 

1,275*5,250
1,275*5,000

            
(6,693,750) 

             
(6,375,000) 

            525,000             500,000  

 

               
2,938,250  

               
3,269,000  

              19,750                           -    

 

               
2,958,000  

               
3,269,000  

 (74,000)  (74,000)   

 -        (299,000) 

 

                
(950,000) 

                
(950,000) 

 1,934,000  1,946,000  
 

   = 1,934,000 ɀ 1,946,000 =  (12,000) 
 
(d)

( 10)  
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(a)  

 
(i)  NPV  

      
 

. Ȭ000 
0 1 2 3 4 5 

  (80,000)              40,000  

               -          20,000       22,000       24,200       26,620       29,282  

               -         (3,000)     (3,000)     (5,000)     (5,000)     (5,000) 

               -           (900)   (900)  (900)  (900)  (900) 

  (80,000)       16,100       18,100       18,300       20,720       63,382  

              1        0.8696       0.7561       0.6575       0.5718       0.4972  

  (80,000)       14,000       13,686       12,033       11,847       31,512  

NPV)       3,078            

 
 
 

 

(80,000) 

(63,900) 

(45,800) 

(27,500) 

(6,780) 

 
=  4 6,780 12

63,383   
 

 4 13

4 02

4 39

 
 
 
 
 
 
 
 
 
 

:   4.2.3       
479,483,492,493
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(16,100+18,100+18,300+20,720+63,382) 136.602 

(40) 

    (2.5) 

94.102 

94.102/5      18.8204  

(80+40)/2 60 

   

(18.8204/60)*100 31.36%  
 

 
 

(b)    
 

(i)  

(ii)  

(iii)  

(iv)  

(v)  

(vi)  

(vii)  
 

 
 
 
 
 

( 10)  
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(a) 

 
1 24,000 110 26,400        26.4 

 
2 28,000 90 25,200        25.2 

 
3 32,000 80 25,600        25.6 

 
4 36,000 120 43,200        47.52 

 

 
(b) Y = a + bX 

    

      

 
В9 Ѐ ÎÁ + ÂВ8  

 
146,400 = 6a  + 306b -------> 

 
В89 Ѐ ÁВ8 +ÂВ82  

 
7,578,400 = 306a  + 15,886b -------> 

 

 
Y = 4,000 + 400X 

 Alternatively;       

  =(6*7,578,400 ɀ 306*146400)/(6*15886 -3062) = 400   

  = (146400/6) ɀ (400*306/6) = 4000    

  

 

 
26,400 14.56 

 
25,200 14.08 

 
25,600 14.24 

 
43,200 21.28 

 

(c) 
 
 
  

+1 -1 

 
 
 

( 10)  
 
 
 

7.2       
711

1 

2 
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(i)                  6,000  

               41,000  

 (8,000) 

               39,000  

                 3,900  

                    300  

 

(ii )  (AVCO) 
                                

     34,800       34,800              34,800          34,800   

          300             300                   300                300   

       8,000           8,000                4,000            4,000   

     43,100        43,100              39,100          39,100   

    

 . Ȭ000  

       14,190                4,860            3,880   

       53,300                       -                       -     

       21,050              22,510          19,580   

(W1)  (2,340)                      -                        -     

       86,200              27,370          23,460   

          2,000                   700                600    3,300  

 . Ȭ000

W1
(2,520,000/4,200)*3,900 2,340  

               
 
 
 
         
 
                                    

: 1.4.1 / 1.4.2     
268, 273, 280


